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[EXMERH]
BE fES—TIEH—I) (B M)
X4 £ f £ % ® ™ FEI-F | Fk-wRE £ A
i OFF~128F | 13BF~178F | 18B5~220% | ORF~17B% | 13BF~228% | 9ORF~22R%
. a2 26,880 45,360 50,400 65,730 87,140 112,560
Kk — L i 28,160 47,520 52,800 68,860 91,280 117,920
(£ @) + B & B 33,600 53,760 60,480 78,620 102,810 134,400
¥J? 35,200 56,320 63,360 82,360 107,700 140,800
;é ﬁ & )>|<, ¥ B 19,820 33,460 37,160 48,480 64,270 83,020
(=prm)lt B # 24,780 39,650 44,600 57,980 75,830 99,140
. al® 6,910 10,920 12,600 14,620 19,280 25,200
P # 7,230 11,440 13,200 15,310 20,190 26,400
+ &8 miﬁ 8,190 12,090 15,120 17,230 23,120 30,240
# 8,580 12,660 18,050 24,220 31,680
i z , , ,
s R 2wy B 5,070 7,600 21,060
# 5,310 7,960 22,060
N ox om o= AP 1,630 2,180 6,040
# 1,700 2,280 6,320
I
N o= o o= 8 1,630 2,180 6,040
# 1,700 2,280 6,320
I
N o= om o= ofF 1,630 2,180 6,040
# 1,700 2,280 6,320
I
N o= m = of® 1,630 2,180 6,040
# 1,700 2,280 6,320
I
N ox om o= o 1,630 2,180 6,040
# 1,700 2,280 6,320
I
AL 2,540 3,450 8,280
# 2,660 3,610 8,670
I
o = m = g% 2,540 3,450 8,280
# 2,660 3,610 8,670
I
5 5 v = ® 2,540 3,450 8,280
# 2,660 3,610 8,670
I
MEA-BE G 15 2,930 3,920 10,870
# 3,060 4,100 11,380
I
- = RE 1,630 2,180 6,040
# 1,700 2,280 6,320
I
- = E 1,630 2,180 6,040
# 1,700 2,280 6,320
I
e m 0 =% 2,540 3,450 8,280
# 2,660 3,610 8,670
I
= = oz =® 2,540 3,450 8,280
# 2,660 3,610 8,670
I
w = o =P 3,820 4,390 11,830
¥J? 4,000 4,590 12,390
- _|= 1,630 2,180 6,040
R =
# 1,700 2,280 6,320




ma ()
X4 Fof 5 % " M | FarFe | Fewm | £ B
it OFF~128F | 13BF~178F | 18B5~220% | ORF~17B% | 13BF~228% | 9ORF~22R%
- BE) 13,100 21,000 27210 29,660 41,940 53760
o # 13,720 22,000 28,500 31,070 43,930 56,320
+ 8 5" 14,280 22840 28.390 32.290 44570 57.120
# 14,960 23,920 33,820 46,690
I
s 3 = 5 0 5% 4180 5,400
# 4,370 5,650
I
s 3 = 5 0 1B 1,450 1,820
# 1510 1,900
I
s 3 = 3 0 oF 970 1.450
# 1,010 1510
I
s 3 = 3 0 oF 970 1.450
# 1,010 1510
I
JE 970 1.450
# 1,010 1510
I
s 3 = 3 0 A% 2.180 2.910
# 2,280 3,040
I
s 3 = 3 0 8% 2.180 2.910
# 2,280 3,040
my £ (B )
X5 o T} F % b | FHI-F%& Ttk £ B
EERA ORF~128F | 13BF~170F | 18B5~220%F | ORF~17B%F | 13RF~228%F | ORF~22R%
] o] 2.000 3,090
SR ’ ’
= # 2,090 3,230
] o] 1.450 1,630
= = = 1 : :
= # 1,510 1,700
] o] 1,360 1.450
= = = 2 : :
= # 1,420 1510
] o] 1170 1,360
= B = 3 ! '
= # 1,220 1,420
0 = 1170 1,360
# 1,220 1,420
o = 700 780
Bk a
# 730 810
x = @ ZE=B 3,090 4,000
F(Hqﬂzx aitzziai‘l’&ﬁlﬂ#{% 7 3,230 4,190




[t R 5% i < (s A 4

(Efi: /)
Bl 2 ¥R BAfir BiTHsE kg

PRI 151 600 620

EETYRSAE 151 200 200

TRt 7 LR—F—5(+ 15 900 940

R—=F—S1+ 151 900 940

BRARUIVSAE 15 2,000 2,090

F—ABILAT—RRYESA 45 800 830

VA TAS UMM E 151 2,000 2,090

A7—mR)JoSMk 151 1,500 1,570

S rh— L BB z—'J‘/’j‘Zﬂ'ﬁ‘yti«rﬂb _ 128 2,000 2,090

FE17aVM AR RRYES A 68 1,200 1,250

F27AV AR RRYLSAF 8& 1,500 1,570

9 I/EVARYRS A 15 4,000 4,190

BEARIVR 15 100 100

IOy 15 1,200 1,250

A—asvr 18 700 730

S5—R—)L 18 700 730

ZARYESA L (1KW) 15 300 310

ZARYES A (0. BKW) 15 200 200

PRI 151 600 620

R—=F—S1+ 151 900 940

BRARUIVTAE 15 1,500 1,570

FTIS—RUY S Ak 15 1,000 1,040

A7—HRUJ RSk 15 800 830

fh7R—)LERER =G RRyS A+ 9B 1,300 1,360

TAVIFARRRYES A 45 900 940

ZARYESA L (1KW) 15 300 310

S5—HR—) 18 500 520

EVRRYbSAk 15 1,000 1,040

EBEFEARRYLSAE 1= 1,000 1,040

R—F—S1+ 151 1,000 1,040

FIS—RUY U bSAk 15 1,000 1,040

INR— )L EEEA A7—RYJUbSAk 15 800 830

=G RRyhS A+ 68 1,200 1,250

AV ARRRYES A 45 600 620

BERER 1=® 5,000 5,230

BEESR 18 200 200

EMAKEE 1R 100 100

e 1R 5,000 5,230

& 18 100 100

s Fh 14 yh(108) 900 940

ARV RAER ) 14 200 200

WP E 1R 1,500 1,570

SFEE 1 1,500 1,570

SRR 1 1,500 1,570

HEEA 18 100 100

HYE 18 100 100

Eta 15 200 200

PR—ILEE &R HY&E 18 100 100

SFEE 1 1,500 1,570




Bl e Bify BiTHE kg
Eta 158 200 200
INR—ILEE R HYE 14 100 100
A9V)—=> 1= 300 310
a Y —kET7/ (Kik—IL) 15 4,000 4,190
oY —rET/ (FR—IL) 15 2,500 2,610
e a Y —kET/ (Uhik—IL) 15 2,000 2,090
TITSALET / (BELKE) 14 700 730
Y —rET/ (BRHBE) 15 2,000 2,090
ILFEEE 1= 4,000 4,190
ILEEE2 1= 2,000 2,090
TAXYLARIAY 1R 1,000 1,040
aAVTUY—IAY 1K 800 830
BAFIVIIAY 1R 600 620
TAPRIUR 1R 100 100
K—ILEEHHE hevbTvd 14 1,000 1,040
FALYMRYI R 15 500 520
cDFL—v— 18 1,000 1,040
MDTL—¥— 18 1,000 1,040
AT—URE—h— 1%t 2,000 2,090
[FhamzYRE—h— 15 1,500 1,570
FORWYIN—T 18 1,000 1,040
LEEE 1= 3,000 3,140
TAXYLARIAY 1R 1,000 1,040
aAVTUY—IAY 1K 800 830
. FAFIVIIAY 1K 600 620
PROLVERER R 14 1,000 1,040
cDFL—v— 18 1,000 1,040
MDTL—¥— 18 1,000 1,040
FALYMRYI R 15 500 520
LEEE 1=® 2,500 2,610
TAXYLARIAY 1R 1,000 1,040
BAFIVIIAY 1R 600 620
R htvbTvE 18 1,000 1,040
IRNVERER S e P 1,000 1,040
MDTL—¥— 18 1,000 1,040
ALY RYI R 15 500 520
FOBRNWYIN—T 18 1,000 1,040
P 1= 1,500 1,570
BRI 18 150 150
EFEEE 1= 700 730
FAHBMERFERR (TKW) 1% 300 310
ZDith JovzHs— 1=® 3,000 3,140
AyA—(X) 1 AIZDE) 11E 500 520
AyA—UN) A RIZDE) 11E 400 410
AyA—(XK) (BIZDE) 11E 70 70
AyA—Uh) 1BIZDE) 11E 50 50

[M&E] N—TIR—ILEFHE (A Frithisi—E X2 4t) B 072-939-7020




